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F371 Classical Greek Language

The mark scheme for Unit F371 begins on the next page.



F371 Mark Scheme June 2009
Section A
Question Answer Marks
Number
1 Translate the following passage into English. Please write your

translation on alternate lines.

The Isaurians choose death for fhemselves and their families rather than

surrendering to Perdikkas and the Makedonians.

Seeing that there was no escape and that they did not have forces

sufficient to keep the enemy out of the city for long, the Isaurians decided

not to surrender the city and not to place their fate in the hands of the
enemy. So one night they shut up their children, parents, and wives in
their houses and set them on fire.

1 Tijs 8¢ droyds alfavopéuns, ol pev Toaupels els 16 mip
eloéBarlorv TG kTHLATO

2  Kal mdvTa Ta TOlS ToAEplols XpnoLpd €cduevd.

3 ol 8¢ mepl Tov Tepbixkay, L8dvTes TA yevdpcva,

4 xaTd mdavta Témor mpoaPaldvTes, émelpavTo clocAlcly cis THY moAww.

5 TEV 8 TOMTEY 4md TV TeLXGy dpuvopény

6 Kal molous TGOV MakeSovwy dmeKTELAVTWY,

7 €T p‘:'i}d\ov‘ O Tepdikkus édatpale 8LoTL ol "loavpels,

g Tas olkias xal T4 AouTa WAVTA TG TUPL TOPaSEBWKOTES,
g obTws dvdpelws Td Telxn dpuidocovoiy.

10 TéAos 8¢ Tob IlepBikkov kal TGV MaxeSévwy dmo Ths ToAews
amoywpnodrTwy,

11 ol loavpels cls o wip Eavtols plpavTes v Talg olkials
éTadnoav.

12 Tepdlkkas 8, Mpépas yevopérms, é8wke TOlS OTPATIWTALS THY
TOALY €lg apmarytiv.

13 obToL 8& TO mlp KaTaoPéoarTes MOAD dpYUPLOY TE Kal XPUoOV
=~
nopov,

14 Tfis WOAews TOAAA €TT) €VaLpOVECTATNS olans.
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Section A
Question Answer Marks
Number
1 cont’'d | The passage is divided into fourteen sections, as indicated above. Marks
for each section are to be awarded as follows (what constitutes a ‘minor’
or ‘serious’ error in context will be established at Standardisation):
[5] Correct translation (as agreed at Standardisation), with one minor
error allowed
[4] One serious error or two minor errors, otherwise the meaning is
conveyed
[3] Most of the meaning conveyed, but several errors
[2] Half the meaning conveyed, the rest seriously flawed
[11 A minority of meaning conveyed
[0] No element of meaning conveyed; no relation to the Greek at all
N.B. Consequential errors should not be penalised. [70]
Section ATotal | [70]
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Question Answer
Number
1 Correct translation as agreed at Standardisation:
cont'd

As/ when/since/because the fire...
Accept flames

Increased/grew/spread
With the fire growing is acceptable
Ths 8¢ dAoyods atavopévns Being increased

Had increased is wrong (minor)

The fire grew and...is acceptable

Ignore jLév

Ignore spelling of Isaurians
ol pev ’loavpets els T mho Accept “they threw”, i.e. do not insist on
eloéBarror Ta KTHULATA imperfect

Accept flames for fire
Accept started to throw
Accept the possessions (do not require their)

Accept all the things that; accept everything

that
mavTa must be object of threw _
kal wdvra Td Tols Tokepiors Insist on future but accept “might be”
xpnotpa éodpeva Present or past not a minor error

All the things about to be is wrong {minor)
WILL BE is wrong (minar}

To or for the enemy

Accept enemies

Ignore 8¢
The men/ those around/with/beside all
acceptable
Accept Perdiccas’ men
' Accept seeing
ol 8& mepi Tov IepSikkar, Accept the events

L8OV TES T YEVOUEVU What / the things that — had happened is
acceptable :
What they had done/ what had been done is
acceptable

What was happening is WRONG (this
appears to be common) but minor
The things having happened is wrong {minor)
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KaTd TavTa TéTOV
TpooPurdVTES

Attacking is acceptable
Attacked and tried is acceptable
In all places is acceptable
Everywhere is acceptable
Afttacked every place is wrong
mdvTa must agree with Témor

émeLpdvTo eloelely el Ty
TOALY

Do not insist on imperfect — tried is
acceptable

To enter info is acceptable

Ignore the Isaurians....they

TOV 8€ TOALTOV ATO TOV
TELXWV dUUVOléwy

With the citizens .....is acceptable
Asjwhen/since all acceptable

Although is wrong

Had resisted is wrong {minor)

As the citizens were resisting/resisted both
acceptable

The wall (singular} is acceptable
Fortification acceptable _

Can be “The citizens resisted and...then P
was even more amazed”

kal moiobs ToEr MakeSdvwy
dmoKTELVAY TRV

The genitive absolute must continue with the
citizens as subject of having killed

Taking the Macedonians as subject of having
killed is wrong

And killed acceptable {do not insist on HAD
killed) but were killing is wrong but minor
Many of the Macedonians is object of “having
killed”

Accept “many Macedonians”

Accept when many Ms had been killed

&TL ndarov o Tlepdlkkas
ebavpale 8LomL ol 'loavpels

Stilliyet

More/further both acceptable

Rather is wrong. These words must be
together but this is minor

Was surprised/amazed

Admire is wrong not minor
Because/that both acceptable
Wondered why is acceptable
Wondered because

Because of the Isaurians ...were guarding
wrong not minor
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TdS olkias kal Td Aolmd TdrTd
T@ mupl TopadedwkiTeS

Handing over {present) is accaptable
Surrender, give up. not just give {minor)
Consign, sacrifice

Do not insist on THEIR houses
Everything else/all the rest is acceptable
All the other things/remaining things
acceptable _
Tao fire/flames is acceptable. In the fire is
wrong

olTwws drdpeiws T Telxn
dvihdooovaly

So bravely. Thus is wrong (but minor).
The wall is acceptable

Guard/are guarding’/had guarded all wrong
(must be were guarding/guarded).
Were defending — acceptable

Téhos 8¢ Tol IMepBikkov kal
TV Makedbvwy drd Ths
TOAEWS ATOXWPNTAVTWY

Finally, in the end, eventually, at last

Accept with P and the M.....

When/as/since

P and the M went away / had gone away (not
were going away)

Retreat/leave are acceptable

ol ’loauvpeis el TO Tip
¢autols PlavTes

Throwing is acceptable _
Diving/leaping into acceptable
Rushing not acceptable

év Tals oiklals éTddmoar

Do not insist on their
Were buried
Entombed/buried themselves acceptable

Tlepdikkas 8¢, Nuépas
yevopévns

lgnere 6¢

When / as both acceptable. Since is wrong
When it was (became) day/ when day
dawned/at daybreak all acceptable

Day having become is one error

After a day had passed — one error

The following day — wrong
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Gave the soldiers the city is acceptable (do
not insist on “to” if the meaning is conveyad)
Handed over is acceptable

€bwke TOlS GTPATLITALS THY For / to / as plunder, For the purpose of is
mOMY €LS dpmaynv acceptable
Into is wrong

The soldiers decided = one error

They/these men/these, all acceptable
obToL 8¢ TO Tlp Accept present participle
kaTaoBéoarTeg

Much/ a lot of both acceptable

mokb dpybpLdv Te kal xpuody Money/silver (both acceptable)

nupov Ignere the Tc { do not insist on both....and)

Accept “with the city having been”....or just
“the city having been....." in English absolute
construction
As/since/because all right. Although and
when are wrong

T méhews ToAAG €T Do not insist on “had/having been.” With the

etBalpovestdTns ollons - city being is acceptable
As the city was/is....for many years is
acceptable

Insist on very/most. The most is wrong
Accept prosperous, rich, wealthy

Do not accept happy, lucky, fortunate {but
these are near misses and so minor)
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Section B

Question
Number

Answer

Marks

Translate the following passage into English. Please write your
translation on alternate lines.

A defendant attempts to convince the jury of his valuable naval
services to the state.

I'll give you a decisive proof of this, gentlemen. First of all, when
Alkibiades was general, though he was neither friend nor kinsman of
mine, he used to sail on my ship. As a general, as you know, he could
have done whatever he wanted: surely he would nat have risked his life
by going to sea on any ship if he had not been thoroughly satisfied of
its excellence and seaworthiness?

1 kal o6Te év T vavpaxLa VT]GS‘ SLechapncav oUbéros not
cruun;\éovmg oTpaTnyol, éyw THY Te épavtod vaiy éxduroa kal
dAanv Eowod.

2  kdl TadTa oli dmo ToxNg évéveTo, GAN amd ThS Tapuckevis THS
EpTis.

3 elyov vop xprunaot meloas kuPeprvirny Pavtiay dwavta TOV
] @w ’ -~ ’ » T
xpdrov, 0 é8okeL TV ‘EXAvor dploTos elvar,

4 kal oD’ omL aAndf) Myw, wdvres émioTaole, dool ETuyxdveTe
OVTES €KEL TOV OTPUTLWTEVY.

T . * ~ -~ ~ ’ 5
5 al pev yap owleloar TV vedr Swdeka noav.

6 €yd 8 Uliv Slo éxdpioa, THY épavTol TEulen Kol THY Tob
NavcLjdyou.

The passage is divided into six sections, as indicated above. Marks for each
section are to be awarded as follows (what constitules a ‘minor’ or 'serious’
errar in context will be established at Standardisation):

[6] Correcttranslation (as agreed at Standardisation), with one minor error
allowed

[4] One serious error or fwo mincr errors, otherwise the meaning is
conveyed

[3] Most of the meaning conveyed, but several errors

[2] Half the meaning conveyed, the rest seriously flawed

[11 A minority of meaning conveyed

[0] No element of meaning conveyed; no relation to the Greek at all

N.B. Consequential errors should not be penalised.

[30]
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Question Answer
Number
2 cont’d | Correct franslation as agreed at Standardisation:

Ignore Kkal

Penalise THE ships (minor). Ships or some
kal &re év Tf vavpaxia ships.
viies SLedBdpnoay Were destroyed, were lost, were sunk

Ships sank is acceptable

ouBéros must agree with oTpartnyod
Genitive absolute — as/since/because

acceptable
oU8évos oL oupmréovtos | Accept when/although
aTpaTnyod Accept awkward with no general sailing with me

not must be after cup
oTpaTnyol - accept
general/admiral/commander

éyw THY Te épauTod valvy | épauTtod —my own or just my

éxdpog Ignore the Te — do not insist on both...and
Kal dANTY €éowod Another (not the other)
Ignore ial

TalTa— accept this (singular)

kal Tabra ovk dmd TUxns | Happened, occurred, not became

éyéveTo By/from/thanks to/due to/owing to/because of
luck/chance, accidentally, fortuitously, by a fluke

Second amd - accept from, as a result of,
dX\’ amo Tiis mapagkeviis | thanks to, due to, owing to, because of, from
Tiis éufis Accept my preparations

I had Phantias (ignore spelling) AS helmsman.

Do not insist on AS.

Accept a Phantian helmsman

clyxov yap xprpaot weioas | Must be proper name of some sort, must be with
kuBepyiiTy Pavtiay helmsman

Accept Ph was my helmsman

Having persuaded/won over

Persuading acceptable

With/by money
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dmavTa TOV
xpérov

The whole time — do not insist on for
Not “for all time”
All the time is acceptable

0g €8dkeL Tav EANror
dproTos etval :

Who | thought was/ is acceptable
Do not insist on who being straight after Phantias
Who was considered to be is acceptable

kai Tatd’ oL aAndf Aéyw

That what | say is true

That | am telling the truth

That | say this truly

That in saying this | am telling the truth

Do not insist on translation of tauta if the sense is
conveyed (and certainly do not insist on plural)
This clause must be dependent on “you all
know.” Many will franslate this clause first and
this will usually be wrong

TdvTes €mioTacte, ool
ETUyXdveTe

dvTes éxel TOV
GTPUTLWTOV

You all know/understand

Gool must be connected with mdvtes — as many
as — but who on its own is fine

Were in fact there

Were actually there

Were there is acceptable

Happened/chanced to be there

Happened being there is one error

Were amongst the soldiers correct oTpatLoTay
is partitive

Were of the soldiers is acceptable

VWere there as soldiers acceptable

al pev yap cwdeloal TV
~ » i
vedy Suwdeka noay

The point of this sentence is TWELVE: twelve is
the predicate, and the translation must convey
this for full marks.

12 ships were saved — is just acceptable

The ships that were saved numbered / were
twelve is correct

There were 12 ships saved is correct

The saved of the ships were twelve — correct just
TV vedv must be dependent on

al pév yap cwldelow

Some for al pev is wrong

Accept — got home safely

10




F371 Mark Scheme June 2009

éywd 8 Wy 8lo éxduoa Faor you, on your behalf, to you, | brought you

Second Tiv- the trireme, that of, or just

. £ . Nausimachos'.
Tiv €laytob Tpurjen kal Nausimach/khos/us ignore spelling.

ThY Tob Nowoipdxov If Nausimachou, wrong (and max 4)

11
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Section B
Question Marks
Number Answer
3 Translate the following sentences into Greek. Please write on alternate
lines.
(a) When the Persians invaded Greece, the Greeks at first were very afraid. [6]
v TlepoGy els Ty ‘EXdSa elopardvtwv,
ol "EX\nves mpdTov pdia ¢dopoivTo.
{b) For the Perslan army was so great that it seemed impossible to defeat
it. : [6]
b yap tov Tlepody oTpaTos TooodTos Ny
woTe [avTov] wkfioar ddlvartor édaiveTo.
{c) But the Spartans ordered the king to lead a few soldiers against the
enemy. (6]
ol 8¢ AaxeBaipdvior Tov Pacinéa éxérevoar
OAlyous oTpaTudTas éml Tobs moheplovs dyayelv.
(d) Althocugh these men fought very bravely, in the end they all died. [6]
ovrroL kaimep dvdpeLdTaTa payxesdpevol,
TéNos dmélavor mdvTes.
{e) But if the Spartans had not stayed for a long time, the whole of Greece
would have been quickly taken. [6]
el 8¢ ol AakeSaipdrior pi) moalv xpdrov Epcivay,
N wdoa ‘EArds Taxéws eAqdin dv.
There are many acceptable ways of translating the English sentences into
correct Greek. Above is given one example for each sentence. Acceptable
alternatives will be agreed at Standardisation, but examiners should be
ready to accept other versions that accurately render the meaning into
Greek.
Each sentence is to be marked out of 6, according to the criteria stated
below. :
[6] Correct translation (as agreed at Standardisation), with one minor
error allowed _
[5] Minor errors only in syntax or accidence
| [4]  Rather more errors but a good proportion of sentence correct
[3] Around half the accidence and syntax correct
[2] Accidence and syntax seriously flawed
[1] A very little correct Greek
[0] No correct Greek at all
Section B Total [30]
Paper Total {100]

12
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Question Answer
Number
3 cont’'d | Acceptable translations as agreed at Standardisation:

When the Persians invaded
Greece

Accept genitive absolute (present or aorist
participle both acceptable), émer 67 +
indicative aorist or imperfect.

Accept Tlepaorkol

Ignore capital letters for all names

Article not necessary with Greece

Invade — elofalw ¢ls or mpos and ém all +
accusative. But penalise eloPaXiw + simple
accusative. Do not accept mposfaiiw.

Accept orpatevopar oTpateuw / (can be middle or
passive)eis, ém, mpos + accusative.

Accept “led the army/soldiers into”. (Question to
ask in these cases is — does this imply invade?
Here, yes.)

the Greeks at first were very
afraid

Very —odoSpa  para pdAlaTd TOAU

Were afraid — imperfect or aorist édopnnoar —
must be passive, middle is wrong (but this is
minor)

For the Persian army

‘0O yap llepolkos oTpaToS 1 yap oTpaTid To yap
oTparevia Tov Tepowv

Accept 6 Tlepoikos oTparos and the army of the
Persians. Do not insist on genitive sandwich.

was so great

TOGOUTOS TV
Accept oiTw peyas

that it seemed impossible

thoTe &doket Sokelr édaveTo daveclal ddvvaTtor
ot SuvaTov

woTe + either infinitive negative pn,  or indicative
of paLvojar  Boxer

Negative ot

Accept ob SuvaTov

Use of éfcom.  acceptable

13
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fo defeat it

Nikay  wknoar adtny abTov auro

Do not insist on object of “defeat”, but if
candidates give it it must agree with their chosen
word for army (but this is minor} Aorist or present
infinitive.

Accept

Suvator dawechal avrny mkacbal nkninran it
seemed impossible that it should be defeated.

But the Spartans

But = d\a first word, or 8¢ second word

ordered the king

Ordered — aorist or imperfect both acceptable

to lead a few soldiers

dyew dyayew OMYOUS OTPATIOTAS OTALTAS
Nyerabal Mynoachal GALyolS oTPATIWTALS

against the enemy

Against — must be ém + accusative, not wpos
minor error
Enemy must be plural. Accept éx8pos

Although these men

Accept word order kavmep oltoL  olbe
Accept pev and e instead of although
Accept kavmep pev + ptep and Tavres 8¢ +
indicative

Accept genitive absolute and then

TavTes amedavor

Present or aorist both acceptable. If xaimep, must

fought be participle

very bravely avBpeLoTaTa

in the end TENOS

they all died Amefavov  dTwAoOVTO TAVTES

But if the Spartans

Ignore BUT.
Ighore the Spartans.

had not stayed for a long
time

€l...J1T) TOAUV |LaKpOV Xpovov €leLvay

moluy  pakpov xpovor. Accept ém. in front of this.
BLa moAlou is minor error
Accept molas Mpepas  but not for many years

14
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the whole of Greece

Maoa | ‘Edas W maca ‘EAkas 7 ‘EXas maoa.
Or dan for maoa. Ignore Greece, but of course
take account of its case.

Not Taca Tns “‘EXAados

Do not accept all the Greeks

would have been quickly
taken

Taxews énddn dv

ot Tlepoar modepor Ty ‘EXhada macav élafov
ethov dv

4v is essential, as is aorist passive, but accept
€adw W

€Andbn  fechn

Accept — “the Persians would guickly have taken
the whole of Greece” (but not just “they would
have taken...” as “they” would then refer to the
Spartans).

15
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F372 Classical Greek Verse and Prose Literature

Section A

Question Answer _
Number Marks

1(a) In the lines before this passage begins, what difficulties has the speaker
said that he faces as prosecutor? Make two points.

(Greek quotation is not necessary.)

Difficult for Lysias to cover the vast amaount of material (Toladra kal TosadTa)
within the limit of the water clock. ‘It's not the beginning which is difficult, but
stopping (Tatoachal) or ‘It's impossible to say everything (uiTe...elmety
dmavta 8vacda).’

Lack of experience in pleading cases — oUiT’ élLavTod TaTOTE duTe AANGTPLA
mpaypata wpdfas, which causes him great despondency.

| do not have to show what | have got against them, but what the motive for their
hostility was.

Everyone has an abundance of reasons (both private and public) for anger
against the Thirty.

One mark per point (points do not need to be as full as the above). [2]

1(b}) In lines 1-5 {(O0jL0$...48 ketaBaL), how does the speaker’s language stress
that his family is completely innocent and harmless?

You should refer to both the content and the style of the Greek and support
your answer with three examples from the Greek.

Award up to 2 marks per point, with a maximum of 4 for content alone.

Cephalus was invited to Athens by Pericles.
Living in a democratic manner
Five negatives — 008éut...0lTe...olTe ...olTe ...olTe
Both generations innocent — olUTe fpels olire ékelros etc.
For thirty years, the family were never involved in law-suits — 8iknv oliTe
Edikacdpeda ofte édlryoper and
emphasis on TOTOTE.
Contrast of the two (legal) verbs - éSikaodpeda. . .Eddyopey
They never did harm to others or suffered harm — p1jTe els Tols d\\ovs
Eapaptavely pijTe UG TOY ANV dBikelafal.
Balance/contrast of the two verbs - éfapapTdrewr...adikelobat
Repetition of &\ \ovs...d\\av (1) in a different case/ with different preposition (1) [61

1{c) ddokovTes. . .xpnuaTtifeoda (lines 6-13): pdokovres here means
‘pretending’ or ‘claiming’. What did the Thirty Tyrants pretend they were
doing, and what in fact did they do?

They wanted to cleanse the city, (1) and turn citizens towards virtue. (1)

They claimed thatl they were punishing metics, (1) but in fact they were extorting
money from them. (1)
4]

16
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Section A

Question Answer Marks
Number

1(d) Translate lines 14-17 (kal Tobs dxolovTas...dmoloyia). Please write your
translation on alternate lines.

1. kal Tobs dkavovTas ob xalewds émelfor: dmokTivvival pév yap
dvdpdmovs mepl olidévos TryodrTo,

2. AapBdvewr 8¢ xphipaTa mepl mohod EmotolvTo. ESofev odr adTols
Séxa oudhafeiv,

3. TotTer 8¢ 8o mévmTas, va adTols ) wpds Tovs dMhavs dmodoyla.

The passage above has been divided into three sections, each of which is worth
five marks. Please write the marks awarded on each section in the body of the
text at the end of the section, indicating where each section ends with a vertical
line. Add up the sectional marks to give a total out of 15, to be written in the
right-hand margin.

[5] Correct franslation (as agreed at Standardisation), with one minor error
allowed

[4] One serious error or two minor errors; otherwise the meaning is
conveyed

[3] Most of the meaning conveyed, but several errors
[2] Half the meaning conveyed; the rest seriously flawed
11 A minority of meaning conveyed

[0]  No element of meaning conveyed; no relation to the Greek at all [15]
1(e) A\’ odras.. Avoapévovs (lines 1-6):

1(e}i) What three services which he performed for the city does Lysias mention
here?

Providing a chorus for a dramatic performance. (1)
Paying tax. (1)
Ransoming many Athenian prisoners. (1) [3]

1(e)(ii} How does the speaker’s language convey his indignation?

You should refer to the style of the Greek (not the content), supporting
your answer with three examples from the Greek text.

use of ye in ol TodTov...dElovs ye —emphasising that they did not deserve

such treatment

rhetorical listing of good things he has done for the city

Tdoas... ToAovs — position emphasising the number of services

pev [ 8¢ balancing his duties

Position of kooplovs — emphasising their orderliness

Position of wév [or alliteration of w (and T)] in Ty T0 TpocTATTONEVOY
moodrvTas — they had done everything they had been instructed to do.

Balance of the participles in lines 5-7 emphasises number of good things they

had done.

17
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Section A

Question Answer
Number Marks

1(e)(ii} | Contrast of 0U8¢va and ToAkovs ~ they had made no enemies, but ransomed
cont’d | many from the enemy.

Any three paints. [6]

1(f) obToL ydp...ekdAvoav (lines 7-11): state the four crimes committed by the
Thirty which Lysias mentions here.

They drove many citizens out to the enemy. (1)
Killed many citizens without burying them. (1)
Deprived many with full citizenship of their rights. (1)
Prevented the daughters of many from getting married. (1) [4]

1{g) In your opinion, which are the most effective points used by Lysias in his
prosecution of Eratosthenes?

You may make limited use of the passages on this Question Paper.
Marks are awarded for the quality of the written communication of your
answer,

Candidates will vary as to which paints they consider maost effective, but the
following are likely to be included in their answers:-

Good behaviour of his family (Section 4)

Persecution of the Metics by the Thirty Tyrants {Sections 5-7)

Arrest and personal danger of Lysias (8-17)

Execution of Polemarchus (17-18)

Maltreatment of Polemarchus’ body and seizure of his possessions, especially
tearing off his wife's earrings (18-20)

Crimes of the Thirty (21-23) — exiling and killing many citizens (Lysias attacks
Eratosthenes by associating him with them). Did not allow burial — a heinous
crime in Greece.

Terrible if the men who had the victorious generals at Arginusae executed are to
escape judgement for executing inhocent citizens.

Allow other valid points, e.g. from the cross-examination of Eratosthenes.

Level descriptors

[9-10] Comprehensive answer covering most or all of the points in the Mark
Scheme;
Highly perceptive response with detailed reference to the rest of the
prescription,
Argument incisive, very well structured and developed; technical terms
accurately and effectively used;
Sustained control of appropriate form and register;
Legible, fluent and technically very accurate writing.

[6-8] Answer covering some of the points in the Mark Scheme;
Perceptive response with some reference to the rest of the prescription;
Argument well structured and developed; technical terms accurately
and effectively used,;
Geod control of appropriate form and register;
Legible and technically accurate writing, conveying the meaning well.
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Section A

Question Answer
Number Marks

1(q) [4-5] A few valid points, but some significant omissions;
cont’'d Limited reference to the rest of the prescription;
Argument coherent, if cumbersome or under-developesd; some
technical terms accurately used;
Basicafly sound control of appropriate form and register;
Legible and generally accurate writing, conveying the meaning clearly.

[2-3] Limited respcnse;
Little or no meaningful reference to the rest of the prescription;
Argument coherent, even if very cumbersome or under-developed,;
Simple technical terms used appropriately;
Basic control of appropriate form and register,
Legible and generally accurate writing, clarity not obscured,

[0-1] Work in this Band may meet some of the criteria for the Band above,
but on balance falls below the standard defined for the higher Band;
Alternatively, work in this Band will be tco inadequate, inaccurate,
inappropriate or irrelevant to justify any credit in a higher Band. (101

Section A Total | [50]
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Section B

Question Answer Marks
Number

2(a) Translate lines 1-6 ("0s elwdv...dpdiyvoLoLv}.
Please write your translation on alternate lines.

1 “Qgs ELTrnw O pév Npx’, 6 8 dp’ éomeTo Laoeeos‘ dbas.
T(Tw & wg TeE Spv'réuwv dv&pmv opvp.a'ySo_f; Spwpev

2 ovpeos‘ EV Broons, El(aeev B¢ Te ’YL'}'VET drourj,
ds TOV opvv*ro Botmos amd xﬁovog evpuo&emg

3 yaikod Te purod Te Body T’ eunon.n'ramu,
vvagopévar Eldeaiv Te kal EyEeawy dpdLydoloip.

The passage above has been divided into three sections, each of which is worth
five marks. Plaase write the marks awarded on each section in the body of the
text at the end of the section, indicating where each section ends with a vertical
line. Add up the sectional marks to give a total out of 15, to be written in the
right-hand margin.

[5] Correct translation (as agreed at Standardisation), with one minor error
allawed

[4] One serious error or two minor errors; otherwise the meaning Is
conveyed

[3] Most of the meaning conveyed, but several errors
2] Half the meaning conveyed; the rest seriously flawed
[1 A minority of meaning conveyed

[0] No elements of meaning conveyed; no relation to the Greek at all [15]

2(b) In lines 7-9 (008 dv...dkpovs), how does the language emphasise the
terrible state of the body of Sarpedon?

You should refer to both the content and the style of the Greek and support
your answer with three examples from the Greek.

o08’dr - not even a shrewd man (or ‘one who knew him well') (ppdSpLov
aviip) would have recognised Sarpedon. (2)

Sarpedon was covered in weapons, blood and dust (Beléeaol kal aipaTt kai
kovinowr) (any twe). (2)

From head to toes (éx kedaliis...és m6das dkpovs) (2)

Enjambement of ‘know'

Repetition of ‘and’

Award up to 2 marks for any other relevant comment, e.g. Stapmepés — ‘right
through'. [6]

2(c) Lines 10-13 {oi 8’ alel...0nlheov): discuss the main points of comparison in
this simile, stating how appropriate they are.

You must support your answer with reference to the Greek.
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Section B

Question Answer Marks
Number

2(c) Points of comparison:
cont’d
State:
flies are like men (1)
milk pails are like the hody (1)

Discuss the appropriateness (identifying the Greek) of any two of
buzzing - noise of battle (2)

number - crowd around (2)

constancy - always there (2)

body/pails as focus of attention (2)

Up to two marks for any cther relevant comments:
e.g. dead flies gather around a corpse (1); contrasts calmness of evocation of
countryside (1) [6]

2(d) Qupov drndpa (line 11); how much credit could Hector claim for causing
the death of Patroclus? Make three points.

. Hector finishes him off with his spear. (1)

. BUT Apollo had knocked Patroclus off balance/hit him in the back
knocked off his helmet and loosed his breastplate. (1)

. Euphorbus had hit him with a spear. (1) [3]

2(e) Lines 6-19 { &s &’ 8T€ ... YOmes €BovTar): what impression of Hector do
you get from these lines?

Make four points, and support your answer with reference to the Greek.

Hector compared with a lion — shows his courage/strength (Bin¢ir) and
superiority to the boar (the inferior animal).

High-minded {(péya ¢povéorTe)

Patroclus compared with an untiring (dkdpavta) wild boar — so Hector's victory
shows his hercic greatness.

Boastful — émevxdp.evos, altos petampémne

Spiteful/mocking — calls Patroclus a fool (1mLe) for imagining he could sack
Troy/carry off the Trojan women to Greece.

Nasty — ‘the vultures will eat you' {ydmes €8ovTat). Any four points.

Any other relevant comment. [8]

2(f) What instruction does Hector go on to imagine Achilles gave to Patroclus
before he left for battle?

Don’t come back (1) uniil you have slain Hector (1). [2]

2{(qg) What part is played by the gods in the section of lfiad XVl which you have
read?

You may make limited use of the passages on this Question Paper.

Marks are awarded for the guality of the written communication of your
answer.
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Section B

Question Answer
Number

Marks

2(g) Zeus 844-658 — ponders fate of Patroclus, decides to let him live and drive the
cont'd | Trojans back to Troy. Causes Hector to flee ‘who recognised the sacred scales
of Zeus'.

662 — Zeus controls events on the battle field.
666 — tells Apollo to take Sarpedon away from the battle field, bathe his wounds
in the river, and take him to Lycia to be buried there,

688-91 — Zeus puts fury into the breast of Patroclus.
Apollo 676 foll. — carries out Zeus’ insfructions.

700-711 — Apollo defends Troy against Patroclus, thinking destructive thoughts
against him (T$ éhoa $ppovéwr) and pushes him back three times. When
Patroclus tries a fourth time, Apollo, with a terrible cry (Sewva dpokiicas),
warns him that Troy is not fated to fall by Patroclus’ spear (ot vi Tov aloa 6@
o Sovpl MO mépbal) 707-8.

715 foll. — Apollo disguises himself as Asius, Hector's uncle, to rebuke Hector for
withdrawing from the battle. He tells him to go after Patroclus, somewhat
humorously stating that Apolio would grant his prayer (8¢t 8¢ ToL ebyos
ATTGAROY).

Apollo then goes into the fray and sends evil panic upon the Argives.

788 foll. (if not interpolated, are virtually a repetition of 715 foll.) — Apollo
(8ewds) interferes in the battle again, stopping Patroclus when he rushed at the
Trojans for the fourth time; he smites him on the back, knocks off his helmet,
which Zeus grants to Hector to wear on his head, and looses Patroclus’
breastplate.

845 foll. — Patroclus blames Zeus and Apollc for his death.

Other gods

693 — ‘when the gods called you to death’ (0dvaTévde).

867 — the immortal horses given o Peleus by the gods save Automedon from
Hector.

Level descriptors

[9-10] Comprehensive answer covering most or all of the points in the Mark
Scheme;
Highly perceptive response with detailed reference to the rest of the
prescription,
Argument incisive, very well structured and developed; technical
terms accurately and effectively used;
Sustained control of appropriate form and register;
Legible, fluent and technically very accurate writing.

[6-8] Answer covering some of the points in the Marik Scheme,
Perceptive response with some reference to the rest of the
prescription;
Argument well structured and developed; technical terms accurately
and effectively used;
Good control of appropriate form and register;
Legible and technically accurate writing, conveying the meaning well.
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Section B
Question Answer Marks
Number
2(g) [4-5] A few valid points, but some significant omissions;
cont’d Limited reference to the rest of the prescription;

Argument coherent, if cumbersome or under-developed; some
technical terms accurately used;
Basically sound control of appropriate form and register;

Legible and generally accurate writing, conveying the meaning
clearly.

[2-3] Limited response;
Little or no meaningful reference to the rest of the prescription;
Argument coherent, even if very cumbersome or under-developed;
Simple technical terms used appropriately;
Basic control of appropriate form and register;
Legible and generally accurate writing, clarity not obscured.

[0-1] Work in this Band may meet some of the criteria for the Band above,
but an balance falls below the standard defined for the higher Band;
Alternatively, work in this Band will be too inadequate, inaccurate,
inappropriate or irrelevant to justify any credit in a higher Band. {101

Section B Total | [50]
Paper Total | [100]
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Grade Thresholds

Advanced Subsidiary GCE Classics - Classical Greek (H040)
June 2009 Examination Series

Unit Threshold Marks

Unit Maximum A B C D E U
Mark
F371 Raw 100 73 62 52 42 32 0
UMS 100 80 70 60 50 40 0
F372 Raw 100 73 62 52 42 32 0
UMS 100 80 70 60 50 40 0
Specification Aggregation Results
Overall threshold marks in UMS (ie after conversion of raw marks to uniform marks)
Maximum A B C D E U
Mark
HO040 200 160 140 120 100 80 0
The cumulative percentage of candidates awarded each grade was as follows:
A B C D E U Total Number of
Candidates

HO040 79.7 91.1 95.9 100.0 | 100.0 | 100.0 363

123 candidates aggregated this series

For a description of how UMS marks are calculated see:
http://www.ocr.org.uk/learners/ums_results.html

Statistics are correct at the time of publication.
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